


















Find the Missing one  (?)

12 : 312 :: 10 : ?

(A) 218

(B) 230

(C) 226

(D) 220



Find the option which should replace (?)

541 : 992:: 145 : ?

(A) 784

(B) 576

(C) 776
(D) 921
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Find the option which should replace (?)

16 : 13 :: 64 : ?

(A) 22

(B) 20

(C) 19
(D) 18
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Find the option which should replace (?)

1728 : 12 :: 10648 : ?

(A) 27

(B) 15

(C) 22
(D) 24
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Find the option which should replace (?)

39 : 94 :: 81 : ?

(A) 19

(B) 18

(C) 81
(D) 17
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One morning Udai and Vishal were talking to each other face 

to face at a crossing. If Vishal's shadow was exactly to his 

left, which direction was Udai facing ?
एक सुबह उदयऔर विशाल एक चौराहे परआमने-सामने बात कर रहे थे। यवद
विशाल की छाया ठीक उसके बायी ींओर थी, तो उदयका मुख वकस वदशा में था?

(1) East                             

(2) West

(3) North                           

(4) South

(5) None of these

Shadow Concept



Find the option which should replace (?)

6415 : 5315 :: 7896: ?  

(A) 6785
(B) 6905
(C) 7785
(D) 6705
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Find the MISSING (?)

16 : 4 :: 10 : ? 

(A) 2

(B) 5

(C) 6
(D) 4
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Find the missing one (?)

48 : 122 : : 168 : ? 

1. 292 
2. 290 
3. 225 
4. 215
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Find the number of triangles in the given figure.

A. 10
B. 16
C. 18
D. 14



Find the number of triangles in the given figure.

A.13
B.14
C.15
D.16



In a row X is 14th from right and 19th from left. Then what is total no?
एक पंक्तिमें X दाएं से 14 वेऔर बाएं से 19वे स्थान पर है। तो कुल संख्याक्या होगी है?
(1) 21

(2) 32

(3) 10

(4) 24

(5) None of these

Question -3



Find the option which should replace (?)

52 : 221 :: 20 : ?  :: 64 : 272

(A) 170

(B) 255

(C) 84
(D) 85

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Find the option which should replace (?)

14 : 289 :: 25 : ?  

(A) 729
(B) 841
(C) 900
(D) 625
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Three persons A, B and C are standing in a queue. There are five persons 

between A and B and eight persons between B and C. If there are three 

persons ahead of C and 21 behind A, then what could be the minimum 

number of persons in the queue ?
पंक्तिमें तीनव्यक्ति A, B और C खडे हैं। A और B के बीच पांचव्यक्तिऔर B और C के बीच

आठव्यक्तिहैं। यदद 3 व्यक्ति C केआगे हैऔर 21 पीछे हैं, तो पंक्तिमें कुल नू्यनतम संख्या

क्या होगी?
(1) 27           

(2) 28    

(3) 40 

(4) 41           

(5) None of these

Question -13



Find the option which should replace (?)

8 : 128 :: 5 : ?  

(A) 125
(B) 625
(C) 50
(D) 100
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Find the option which should replace (?)

178 : 40  :: 692 : ?  

(A) 56
(B) 39
(C) 101
(D) 91
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